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GENERAL KNOWLEDGE PAPER - 1

NON TECH GROUP 'C' (Degree Std.)

Examination held on 23-09-2018
(10:00AM TO 11:30ANM)

Subject Code: 291

Total marks: 100
One mark for each question

KEY CHART
Question Booklet Series - 'A'

Question| Key [Question| Key |Question| Key [Question| Key
Number | Answer | Number | Answer | Number | Answer | Number | Answer
1 1 26 4 51 4 76 3
2 4 27 2 2 1 77 4
3 4 28 1 53 4 78 4
4 1 29 1 54 3 79 4
5 4 30 3 53 1 80 3
6 1 31 4 56 2 81 4
7 1 32 2 57 2 82 1
8 2 33 Grace 58 3 83 2
9 4 34 4 59 1 84 2
10 4 35 3 60 2 85 1
11 4 36 3 61 3 86 4
12 1 37 4 62 2 87 4
13 2 38 4 63 4 88 2
14 4 39 2 64 2 89 2
15 1 40 1 65 3 90 1
16 Grace 41 3 66 4 91 4
17 3 42 2 67 1 92 4
18 3 43 Grace 68 4 93 1
19 3 44 4 69 4 94 4
20 4 45 4 70 4 95 4
21 1 46 4 71 4 96 4
22 1 47 1 72 2 97 2
23 1 48 2 73 2 98 4
24 2 49 4 74 3 99 1
25 2 50 3 7S 1 100 2
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Match List I (Chemicals) with List II
(Usage) :

List I List 11
(Chemicals) (Usage)

A. Potassium I.  Fertilizer
bromide

B. Potassium II. Photography
nitrate

C. Potassium III. Bakery
sulphate

D. Monopotassium IV. Gunpowder

tartarate

Select the code for the correct answer
from the options given below :

A B C D
1 I v I II1
(2 II v III I
3 IV II III I
4) v II I II1

Earlier DDT was used to kill mosquitoes;
while in recent years it became very
difficult to kill mosquitoes using DDT.
Which principle explains the immunity of
mosquitoes from DDT ?

(1) Theory of Natural Intervention

(2) Theory of Immunity

(3) Predator-Prey Theory

(4) Theory of Natural Selection

The Giant Panda,
melanoleuca, is the symbol of

Ailuropoda

(1) International Union for
Conservation of Nature

(2) Worldwide Federation to Check
Pollution

(3) Worldwide Fund for Communicable
Diseases

(4) World Wildlife Fund for Na

An ideal blackbody at room temperature

is thrown into the furnace. It is observed

that

(1)

(2)
(3)

(4)

Initially it is darkest and at later
times the brightest

It is darkest at all times

It cannot be distinguished at all

times

Initially it is darkest and at later

times it cannot be distinguished

Consider the following statements :

A.

Lakes are generally static bodies of

water.

Lakes are surrounded by land on all

sides.

Caspian Sea is the largest lake in the
world by surface area.

Chilka is the largest lake in India by

surface area.

Select the code for the correct answer

from the options given below :

(D
(2)
(3)

A, B and C are correct
A, B and D are correct
A, C and D are correct

A, B, C and D are correct
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The founder of Bangalore was
(1) Palegara of Yelahanka
(2) Palegara of Madhugiri
(3) Palegara of Ramanagara

(4) Palegara of Chikkanayakanahalli

Which one of the following is not the

indicator in the UN SDSN’s World

Happiness Index ?

(1) Sanitation

(2) Freedom to make life choices
(3)  Generosity

(4) Perceptions of corruption

One among the following was not a
member of the Drafting Committee of the
Constitution of India.

(1)  Dr. K.M. Munshi

(2) Pt. Jawaharlal Nehru

(3) Alladi Krishnaswami Ayyar

(4) N. Gopalaswami Ayyangar

The directive to separate Judiciary from
Executive in public services of the State is
mentioned in which of the following
Articles ?

(1) Article 47
(2) Article 48
(3) Article 49
(4) Article 50

10. Match List I (States) with List IT (Atomic

11.

12.

Power Stations) :

List I List IT
(State) (Atomic Power
Stations)
A. Uttar Pradesh I. Rawatbhata
B. Rajasthan II. Narora
C. Maharashtra ITI. Kakrapara
D. Gujarat IV. Tarapur

Select the code for the correct answer
from the options given below :

A B C D
(1) « III I II v
(2. 1 II III v
3 IV I III II
4 1II I v IT1

Highest amount of Hydro Power produced

in Karnataka is in

(1) Cauvery river basin
(2)
(3) Kali Nadi basin
(4) Sharavati basin

Krishna river basin

The countries sharing the coast of Dead

Sea are

(1) Jordan and Israel
(2) Lebanon and Syria
(8) Turkey and Israel
(4) Jordan and Lebanon
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Match List I (Climate) with List II (City) :

List1 List 11
(Climate) (City)
A. Equatorial Climate 1. Santiago

B. Tropical Monsoon
Climate

II. Singapore

C. Mediterranean III. Windhoek

Climate

D. Desert Climate IV. Mumbai

Select the code for the correct answer
from the options given below :

A B C D
1 I I v II1
(2 II v I III
3 IV II1 II I
4) 1 III II IAY

Which of the following rivers does not
originate in India ?

(D
(2)
(3)
(4)

Beas
Chenab
Ravi

Sutlej

Which commission recommended as a
system of grants in-aid to encourage
private educational institutions ?

(1) Sir Charles Wood’s Despatch on

Education
(2) The Hunter Education Commission
(3)

(4)

The Sadler University Commission

Kothari Education Commission

16. Match List I (Land tenure systems) with
List IT (Explanations) :

List I

(Land tenure

system,)

Jagirdari

system

Ryotwari

system

Mahalwari

system

Zamindari

system

II.

II.

IV.

List IT
(Explanation)

Land allotted to
big feudal
landlords

Land allotted to
revenue farmers
and rent collections

by collectors

Land allotted to
each peasant with
right to sub-let,
mortgage, transfer,

gift or sell

Revenue settlement

at village level

Select the code for the correct answer

from the options given below :

(D
(2)
3)

Vi

A B
I III
II I
II III
I v

C D
IT v
III v
1A% I
II III
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Who wrote the first Kannada drama
‘Mitravinda Govinda’ ?

(1) Lakshmisha
(2)
(3)
(4)

Mahalingaranga
Singararya

Tirumalaraya

When a nucleus emits a beta particle, its
atomic number

(1) Remains constant but its mass

number changes

Remains constant and so does its
mass number

(2)

(3)

Changes, but its mass number
remains constant

4) its mass

Changes and so does
number

In the context of environment, the term
“dirty dozen” refers to

(D
(2)
(3)
(4)

12 harmful greenhouse gases
12 ozone depleting substances
12 persistent organic pollutants

12 heavy metals

An estuarine marine park is proposed to
be established at

(1)
(2)
3
(4)

Honnavar
Bantwala
Apsarakonda
Tadadi

4

21.

22,

Lantana — a known shrub found in

abundance is

A. A toxic weed and has affected the

mountain diversity of the state.
B. Widely cultivated for its flowers.
C. Endemic to India.

D. Considered as a potential fire hazard

and is combustible even when green.

Which of the statements given above are

correct ?

Select. the code for the correct answer

from the options given below :

(1) A, BandD only

(2) BandD only

(3) A and C only

(40 A B,CandD

Yettinahole project in Karnataka is

related to

(1) Integrated Drinking Water Project

(2) Integrated Wasteland Reclamation

Project

(3) Integrated Wetland Reclamation

Project

Integrated Drainage System Project
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The third edition of Karnataka ‘Hakki
Habba’ (Birds Festival) was held at

(1) Daroji Karadi Dhama, Ballari

(2) Brahmagiri Wildlife Sanctuary,

Kodagu

(3) Dandeli Wildlife Sanctuary, Uttara

Kannada

(4)

Ranebennur Blackbuck Sanctuary,

Haveri

Consider the following statements :

A. In India, Red Panda is naturally
found in the Western Himalayas

only.

B. In India, Slow Loris lives in the
dense forests of the North-East.

Which of the statements given above

is/are correct ?

Select the code for the correct answer

from the options given below :

(1) Aonly

(2) Bonly

(3) BothAandB

(4) Neither A nor B

25.

26.

Match List I (Institutes) with List II
(Cities) :

List 1 List IT

(Institute) (City)

A. Central Arid I.  Bengaluru
Zone Research
Institute

B. Institute of Wood II. Allahabad
Science and
Technology

C. Institute of Forest  III. Jodhpur
Productivity

D. Centre for Social IV. Ranchi

Forestry and
Eco-Rehabilitation
(CSFER)

Select the code for the correct answer
from the options given below :

A B C D
(1) III I II v
(2) 1III I 1A% II
@) IV III II I
4) IV III I II

The National Highway Number 3 joins
(1)
(2)
(3)

Delhi with Ahmedabad
Delhi with Mumbai
Agra with Kolkata

&y Agra with Mumbai
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4) Q0

(2)

3)
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Consider the following statements :

A. Tomato is grown in all the States and
Union Territories of India.

B. The crop does well under average
monthly temperature of 21°C to
23°C.

C. The colour and nutritive value of the
fruit is determined by light and its
intensity.

Which

correct ?

of the above statements are

Select the code for the correct answer
from the options given below :

(1) A and Bonly
(2) A, BandC

(3) BandConly
(4) A and C only

In the following diagram, the circle
the the
represents the teachers and the rectangle

represents singers, triangle

represents the authors.

According to the above diagram, how
many teachers are neither authors nor

singers ?
1 1
(2) 8
3) 2
4) 3

29.

30.

Ajit started from point ‘A’ and proceeded
7 km straight towards east, then he
turned left and proceeded straight for a
distance of 10 km. He then turned left
again and proceeded straight for a
distance of 6 km and then turned left
again and proceeded straight for a
distance of 10 km and then turned left
again and proceeded straight for another
10 km. In which direction is Ajit from the

starting point ?
(1)
(2)
(3)
(4)

East
West
North
South

Five boys Amit, Bhanu, Chandru, Dev
and Edwin are sitting on a staircase in

the following way :

A. Edwin is above Amit.
B. Devis under Bhanu.

C. Bhanu is under Amit.

D Bhanu and

Dev is between

Chandru.

Who is sitting at the lowest point of the
staircase ?

(1)
(2)
(3)
J Edwin

Amit
Bhanu
Chandru
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BONECIY, DR 0D DTHFNYTRT ?

A oMLY 208R Q0T ©TI 27
8603&@ TR DTRFNOTT.

B. TEMOoATOR, 0T DT HFNYTIEOE
TONICL  LWYRFNTRY  ROOPYNFRN
QNRLICBO.

B3N 20RO BoedT TePINTY, IR

AIBR) TWIROTRT) BRODT ?

3R Jepuom  wodnvos

YUZTTN FOFESTTVOR -

ROCRT
(1) JBR ovgoTen demw A Bewdob T
TTYOTHPOTIE ABD.

Bewd B 3QT0R Snkdodnode DI
QVBOILD TTNIZT.

BINOT QUBOFLO TeIRTDT A B2
B RYSRTY, QBT 20830, B850
TRBMIR)OL,
BIMOR GUZOID TBETINTIT A [0
B nNY0E0QT  wedd  B&Eodw
2R3 TN

(2)

(3)

(4)

B33, 3mo0%e em@wcﬁﬁoda Rirazagoéi
(%0.50.%.) BHEOTLR DRE OIRR)T0 ?

(1) 2004 - 05

(2) 2011-12
(3) 2015-16

(4) 2001-02

33.

34.

83 NS AFOD  WITY, FFFE
WHeIY, (7)) AP TwolFcsRnwy, IO
WP, YVITT WINPT SOR.
NS

SN2 | ?

1 2 3 4
psfelesdrin eﬁojasojodzteﬁ@% :

D

59 233

(D)

(2)

3)

D
S
D

(4)

31 893 WFTAB GEDHNGRY ?
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How many students are there in the
class ?

A. There are more than 20 but less
than 27 students in the class.

B. The number of students in the class
can be divided into groups such that
each group contains five students.

Which of the above statements contain
sufficient data to answer the question ?

Select the code for the correct answer
from the options given below :

The data in Statement A alone is

(D)

sufficient to answer the question.

The data in Statement B alone is

(2)

sufficient to answer the question.

(3) The data given in both Statements
A and B together is not sufficient to

answer the question.

The data in both Statements A and

B together is necessary to answer

(4)

the question.

Currently, what is the base year of the
Index of Industrial Production (ITP) ?

(1) 2004 -05
(2) 2011-12
(3) 2015-16
(4) 2001-02

33.

34.

Find the correct figure from the answer
figures that will replace the question
mark (?) in the question figure.

(DI ?

2 3 4
Select the correct option :

Question figure :

)
N

Y
%
1

(D)

(2)

(3)

%,
D
S

(4)

(D

How many triangles are there in the

following figure ?
(1) 5
2 2
3 9
4) 10

WWW.SHIKARAT.COM



35.

36.

291

WO FIT STV WRDNYTR TR, B,
e, TP, NOY B WY W
WINPT DT@ RSN 3K
QeTBSONT.

T
B A1
e ‘

oY BN @8 BoedStdRog
a;’mddgt QORATIT &N BFTE) QTITYTIO 03
2£9.?

(1) TR

(2) PO

3) ed

4) 3P

3 ITJ0D e R N33,
TDLIODTO T BETIT  FoLOTB/Y
VTN FRRIZT ?

o OO0
@ (O

o &

87. 33 3ENT TIoDY, 20w TePFoDIZ, A

T3 B Q0w QATE ORDBINGD
WRORORITS. Qe TePFOI), [0 VT
WRORORIT LNBINDI, TORESRUEBD 202
oI RT3/ TED BeFoE.
BRROZT/ES @omdd& QPFOA.

TevF : FoUO FPOERO BPLOR BETBRT,
ARMdTe PUINYR) INTT B0
PONRYY, T3, W I Fper®
WYY, WOIBRRETIN  WIE

BRTPTT BLIITT 9533
%ﬁaﬁjﬁ%ﬁﬁ% m%ﬂmew
TBRYTRMIRTO 0T PATT.

NODIA : T WOTTD B3 NIOFOII)
UECE  BRBWIIT WA
WOSCDYTITIN A
ne W3
T0TTOBWTBOTD.

NOTS B : A0WPO TP
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Six faces of a cube have been painted with
green, yellow, blue, black, pink and white.
Two positions of this cube are given
below.

Yellow

Green Position I

Blue

Pink

Black  Position IT
Green

If the cube is placed in such a way that
pink colour is at the top, then which
colour should be there at the bottom ?

(D
(2)
(3)
(4)

Green
Yellow
Blue
Black

Which of the following diagrams best
depicts the relationship between Married,
Women and Teachers ?

OO0
QD

o &

(D

(2)

37.

In the question, a statement is followed
by two assumptions A and B. You have to
consider the statement and the following
assumptions and decide which of the
is/are in the

assumptions implicit

statement.

Statement : The traffic police department
has put up large notice
boards at all major junctions
of the city, warning drivers
to refrain from using cell

phones while driving or else

their licenses will be
impounded.
Assumption A: The drivers of the

vehicles may ignore the
warning and continue

using cell phones while

driving.

Assumption B: The traffic police
department may be able
to nab most of the

offenders and impound

their licenses.

Select the code for the correct answer
from the options given below :

(D
(2)
(3)

Only Assumption A is implicit
Only Assumption B is implicit

Both Assumption A and Assumption
B are implicit

(4) Neither  Assumption A

Assumption B is implicit

nor
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38 39NI ée@éﬁ%ﬁo 20&eDY : 40. IINT P WSTUF), woT TeTF) oD
I 330 SeRCmomon IR, s G QOFR IRFTY DT 8,eTNMON [RETIS
STIZES. DWBFD, Ie0RT. W (WSIWRY)
II. 337 AYoT IBwR [, HoTH AT PING BN, (3RT) SPYAI
°RT SNTD. QeTERNS.
I D3> Tow, SpeBLd  BeRODEF R
BRRASR, IF ARPTOII), I3
231 ISR ZES.
B0eOT  TEYING  SHOR0T B3 FTIND
SeTRFINGS), 3R 7O ?
(1) II%  SeATawwen, 0 IS
SIS,
(2) I WeRTzoen, T :1@8036 SR Bedioh Foamen wi SHRY, o
- - -
AT LY. Sedmmd SeRss SRENG ?
(3) 5&’; RYoLOQOTY, @i T 33 woa
SRR (1) 12%%
(4) I3 BexT eﬁm‘bdcﬁ o[ B
SR, (2) 22%%
B3 TIND WPFTY, (7) wTH, QTOBE CINI @ 954
#o@jéojadi N o oo RN Rty s hol @ 45%
ST ?
6 5 4
41. 1 kg wnE ¥S T 36:50/kg =033 1 kg
7 6 5 ws%ml 16 3¥TTRR  SeQRWROTORT,
NG 8 LR WO AR PIF TPEOF
5 7| 6
TRINT Boed eﬁewdi@i 2neT dzideab ?
37T 123 | 7 1) T 692
(1) 16 (2) T 1768
2 14
(3) 26 (3) T 876
o - o
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Examine the following statements :
I. I play cricket only if I am bored.

II. I am never bored when I have my
friend’s company.

III. Whenever I go to the stadium to

watch a match, I take my brother
along.

Which of the following conclusions is
correct based on the above statements ?

(D
(2)

If I am bored, I play cricket.

If I am bored, I seek my friend’s
company.

(3) If I am not with my friend, then I

am playing cricket.

(4) If T am not bored, I do not play

cricket.

In the following question, which number
when placed at the sign of interrogation
(?) shall complete the pattern ?

6 5 4
7 6 5
5 7 6
37 | 23 ?

(1) 16

(2 14

(3 26

4) 21

40.

41.

the

spending of a country on various sports

The following pie chart shows
during a particular year. The degree
values of various components are given in

the chart.

5B

Hockey Basl;%toball
63°

Cricket
81°

What percent of the total spending is

spent on Tennis ?

1) 12%%

1

(2) 225 %

3) 25%

(4) 45%

The cost of the paint is ¥ 36-50 per kg. If
1 kg of paint covers 16 square feet, how
much will it cost to paint the entire
outside surface of a cube having 8 ft side ?
(1) <692
(2) T 768
(3) < 876
(4) T 972
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TR QeRF), wHrowem @B
CIVFEE  don@o  BROWE  DIWTT
WOTTNG AT FFNT 03N FNTTYLS ?
(1) V3T WezEEF® ToNC

(2) T33E0 9E30L3B ToNT

(3) 3389 20T WOTIRINT

(4) 389 TRT FNT

Tpesd0dnoTd  Woeeglien  (BIEEs
QTT, BB TOCIIT BRFCIY, AN
2000 AOFH, WS FaoIwo 8 Notd
48 Q0R N FRYES STT BeIosd
Im0DmN (Tvmm wde  0B))
BOOKOTON  wde  BRTBI),  FAOILO
4 ot IR edngd. deesdodd Hen
TN QO TR WeNT  TRITWED LTOTB
QT ?

1 2:1
(2)
(3

(4)

3:2
8:5
3:8

2,080 FA[I) HTVE FBROTT TR
aSRFeng &g aiolelevebin]
B30 F0s3,0300

(1) 20T

(2) T

(3) AR

(4) =303

QERN,

45.

46.

TS, I (Bodnrod/ BorsE gu) @0
B 11 (TomNed) NI TR0 :

@)‘S"i I @’éﬁ II

( DOFITD ?jo%{) ( Uaa;jrf%f)
A, SPREF L o BBes
B. s II. ©mRF
C. TP III. 305, BT
D. WezT* IV. 3e0Y

RoBeny FTOIN0T TO YUFTNET) BOR :

A B C D
(1 1I I v III
(2 1II v 111 |
(3) III 11 v |
4) 1II v I 111
evrin To% WHEOT SVFOIR
0. DBEBTON,FRTO QPTTNGTO ?

(1) RVTIL 2BC3DT®

(2) O3 WOTWITIL WIBOVT®
(3) mm@ %e,—gamu 2.T80300°

4 DOR %@%@u Mefovelon
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Falkland Islands, which have been a bone
of contention between Argentina and UK,
are located in which of the following

oceans ?
(D
(2)
(3)
(4)

North Atlantic Ocean
South Atlantic Ocean
South Indian Ocean

South Pacific Ocean

A boat running upstream takes 8 hours
48 minutes to cover a certain distance,
while it takes 4 hours to cover the same
distance running downstream. What is
the ratio between the speed of the boat
and the speed of the water current

respectively ?
1 2:1

2 3
3) 8:
4) 3

o ot N

If an object is placed between two parallel

plane mirros, then number of images

45.

46.

Match the names of shifting cultivation
(List I) with the States (List II) :

List I List IT
(Shifting (State)
Cultivation)
A. Jhum I Andhra
Pradesh
B. Ponam II. Assam
C. Podu III. Madhya
Pradesh
D. Bewar IV. Kerala

Select the code for the correct answer

from the options given below :

A B C D
(1) 1II I v 11
(2 I v II1 I
(3) III II v I
4 1II v I I1I
Under which Wodeyar king’s rule,

did M. Visveswaraya work as Diwan ?

formed is
(1) Chamaraja Wodeyar
E;; E:zr (2) Jayachamaraja Wodeyar
(3) Zero (3) Krishnaraja Wodeyar III
(4) Infinity (4) Krishnaraja Wodeyar IV
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TORTT  RTRET  WRBBTVI), B00B0F

TSNS 030 TePFoso0 FOOTINTS ?

A VWROOT  RoTPEdF WO, I
NOFD BOIRI, LONETOILDOZB.
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IBOWED  WBD 8 9BEIITE,
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33 B0eOT BePFNTE) CINRTO /a9 30 ?

QeRTOT  BoRYY, FOCIRT  LVBTEN

ROBESBTVOR :

(1) ARIRE

(2) B®RE

(3) AIAB TER

(4)  RBoedT NPT 2,
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FeBmTd ©0B) NYR) B :

e_u)éé I a’éé II

(ﬁzgead (329)9@53’

eoD) Fesmmoch ©03)
A. d:%mﬁwf I. 3e.55 038R

QLY

B. éds@gw II. 3e. 48-2 0I3R
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A B C D
(1) III IAY II I
(2) 1III IV I II
3 II I III IAY
4 1II IV III

49.

50.

IH |

NRIRTRY 3:30 Fowd Ywn, @TT
BOYNRY [REE  evoRndE RS
QINTIZT ?

(1)
(2)
(3)
(4)

95°
65°
86°

75°

ﬁéil (o,"’g)kjéﬁ%fo) DVeICh) ﬁéi IT (Qi’@&)éd))
r{%%%&ao@%) :

w’éﬁ I E)’éﬁ II
( PAENED ) ( ej’c’;oﬁda)
A DB L3I0 I. 3333~0°
SEQIIAS
B. WFSTE 9T° II. Egﬁa"
pTaDIg TOBOTY
C. Q00T 0F° & III. 0T R0
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@O @ OL3eF RO0TELD
0Dex®

T0FeINS BTOIROT IO médﬁ@ﬁ%@@% :

A B C D
1 I II v ITI
2 I II ITI v
3 II I IAY ITI
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Which of the following is correct about the
Lahore Session of the Congress ?

A. Resolution was adopted to gain
complete independence from the
British.

B. The rift between extremists and
moderates was resolved in that
session.

Which of the above statements is/are
correct ?

Select the code for the correct answer
from the options given below :

(D
(2)
(3)
(4)

Match List I (Iron Ores) with List II
(Percentage Content of Iron) :

A only
B only
Both A and B

None of the above

List List I1
(tron.ore) Conettof ron)
A. Magnetite I. Uptob55%
B. Haematite II. Up to 48-2%
C. Limonite III. Up to 72-4%
D. Siderite IV. Up to 69-9%

Select the code for the correct answer
from the options given below :

A B C D
(1) III IV II I
(2) 1III IV I II
3) 1II I III v
4) 1I vV III I

49.

50.

What angle will be formed between the
hands of the clock at 3:30 ?

(D)
(2)
3)
4)

95°
65°
86°
75°

Match List I (Books) with List II
(Writers) :

List I List I1
(Book) (Writer)
A. A Brief History I. Shashi
of Time Tharoor
B. Bookless in II. Stephen
Baghdad Hawking
C. Long Walk to ITI. Khushwant
Freedom Singh
D. Truth, Love and IV. Nelson
a Little Malice Mandela

Select the code for the correct answer

from the options given below :

A B C D
1 I II v ITI
2 1 II III v
3 II I IAY ITI
d II I III v
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(2)
3
(4)

T3 01T
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20T A0
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Match List I (National Parks) with List II
(States) :

List 1 List IT
(National Park) (State)
A. Silent Valley I. Meghalaya
B. Nokrek II. Kerala
C. Nagarhole ITII. Karnataka
D. Panna IV. Madhya
Pradesh

Select the code for the correct answer

from the options given below :

A B C D
1 I II v II1
(2 I I v II1
3 I II III vV
4 1II I III IV

For the first time an international team
of scientists including 18 scientists from
India have cracked the genetic code of

which of the following widely cultivated

crops ?

(1) Wheat
(2) Rice
(3) Maize
(4) Jowar

53.

54.

Mohinder Singh Gill won the Gold Medal
in triple jump event in 1970 Bangkok
Asian Games. Which Indian sportsperson
has become the second Indian to achieve
the landmark in 2018 Jakarta Asian

Games in the men’s triple jump event ?

(1) Sartej Singh

(2) Guru HS

(3) Mika Singh

(4) Arpinder Singh

Consider the following statements about
“KAKADU 2018”:

A It 14th

multilateral

was the edition of

regional maritime
engagement exercise which took

place in Darwin, Australia.

B. Indian Naval Ship “INS Sahyadri”

participated in the exercise.

Which of the statements given above

is/are correct ?

Select the code for the correct answer

from the options given below :

(1) Aonly

(2) Bonly

(3) Both Aand B

Neither A nor B
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(1) VSSC
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(4) DRDO

57.

58.
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Recently in the wake of increase in mob
lynching incidents, the Hon’ble Supreme
Court has  directed the

Government to enact a law to deal with

Union

such incidents terming them “horrendous
acts of mobocracy”. Which of the following
committees has been constituted by the
Union Government to suggest laws

against mob lynching and violence ?

(D)

Rajiv Gauba Committee

Taraknath Committee

(2)

(3) OP Neel Committee

(4) Inderjit Singh Committee

The Integrated Defence Staff of the

Defence = Ministry has signed a
Memorandum of Understanding (MoU)
with which of the following organizations
to set up satellite enabled telemedicine
nodes to improve emergency medical
support to Indian soldiers posted in high

altitude areas especially Siachen ?

(1) VSSC

57.

58.

59.

In which of the following countries was
the Fourth

Congress organized ?
(D
(2)
(3)
(4)

International Ayurveda

Finland
The Netherlands
Russia

United States of America

Who has been recently appointed as the
of DRDO

Research Development Organisation) for

new chairman (Defence

a period of two years ?
(1)
(2)
(3)
(4)

Atul Kapoor
Vinay DK
G. Satheesh Reddy

Sanjay Mitra

The blockchain bond

“bond-i”, which is to be created, allocated,

world’s first
transferred and managed through its life
cycle using distributed ledger technology,
has been launched by which of the

following organizations ?

(1) World Bank
(2) ISRO (2) Asian Development Bank (ADB)
(3) BARC (3) International Monetary Fund (IMF)
(4) International Telecommunication
(4)  DRDO Union (ITU)
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The United Nations recently observed the

first ever International Day of

Remembrance and Tribute to the Victims
of Terror Attacks around the world. It
was observed on which of the following
dates ?

(1) 20 August
(2) 21 August
(3) 22 August
(4) 23 August

Which noted Kannada film producer has
passed away recently, who was the only
Kannadiga to chair the Indian Film

Chamber of Commerce ?
(1) Anand Murthy
(2) V. Harikrishna
(3) M. Bhakthavatsala
(4)

C. Ramachari

In Men’s hockey, Indian men’s national
field hockey team clinched a Bronze at
the 2018 Jakarta Asian Games. Which of
the following countries was defeated by

India to win the Bronze ?
(1) South Korea

(2)
(3)
(4)

Pakistan
Japan

Vietnam

63.

64.

According to the Reserve Bank of India,
in its annual data recently, which country
accounted for the Ilargest source of

Foreign Direct Investment (FDI) into
India in the Financial Year 2017 — 18 ?

(1)

Singapore

France

(2)

3)

Germany

Mauritius

(4)

The United Nations observes

international decades with a resolution.

The United Nations has declared

2016 — 2025 as

(1) The United Nations Decade of
Family Farming

(2) The United Nations Decade of

Action on Nutrition

3

International Decade for People of

African Desert

(4) International Decade for the
Eradication of Colonialism
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Mirza Raja Jai Singh, instead of

completely annihilating Shivaji,
concluded the Treaty of Purandhara with

him because

(D)

Complete annihilation of Marathas

was impossible.

(2) Raja Jai Singh was sympathetic to

the Marathas.

(3) Raja Jai Singh wanted to overthrow
the Adil Shahi Sultan of Bijapur

with the help of Shivaji.

(4) The Mughal army was to be
deployed for the conquest of Bijapur

and Golconda.

Which of the following awards gives the
recipient the status of appearing in the
order of precedence of the Government of

India, appearing 7 on the list ?
(1) Rajiv Gandhi Khel Ratna Award

(2) Param Vir Chakra

(3) Padma Vibhushan

(4) Bharat Ratna

67.

68.

Match List I (Tribes) with List II

(States) :

List 1 List I

(Tribe) (State)
A. Katkari I. Himachal Pradesh
B. Rabha II. Madhya Pradesh
C. Bhil III. Maharashtra
D. Gaddi IV. Meghalaya

Select the code for the correct answer

from the options given below :

A B C D
(1) III v II I
(2) IV III II I
3 1 vV IT ITI
(4) 1III I IT v

Which of the following did not happen in
the year 1946 ?

Announcement of the Cabinet

(D

Mission to India

(2) “Direct Action” call given by the

Muslim League
(3) Formation of the interim
government

4)

Lord Mountbatten’s appointment as

the Viceroy of India
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Consider the following sea-ports of India :
A. Chennai

B. Tuticorin

C. Vishakhapatnam

D. Paradeep

What is the correct sequence of the above

given ports from North to South ?

Select the code for the correct answer

from the options given below :

(1) AB,CD

(2) D,AC,B

(3) C,D,A,B

4 D,C,AB

Who said that “Congress Movement was

neither inspired by the people, nor

devised or planned by them” ?
(1) Lord Dufferin
(2) Sir Syed Ahmad Khan

Lord Curzon

(3)

(4) Lala Lajpat Rai

71.

72.

Consider the following statements :

A. Tides are of great help in navigation
and fishing.

B. High tides enable big ships to enter
or leave the harbour safely.

C. Tides prevent siltation in the
harbours.

D. Kandla and Diamond Harbour are
tidal ports.

Which of the above statements are

correct ?

Select the code for the correct answer

from the options given below :
(1)
(2)
(3)
(4)

A and D only
B, C and D only
A, B and C only

A/ B,Cand D

Among the following places of Karnataka,
which were joined from the Madras
province to present Karnataka at the
time of reorganization of the states on the

basis of language of the people ?

(1) Kodagu and Dakshin Kannada

(2) Dakshin Kannada and Kollegal
(3) Bellary and Raichur

4 Bangalore and Mandya
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Consider the following statements :

A. The liquid pressure is inversely
proportional to the density of the
liquid.

B. The pressure exerted upon the
liquid does not depend upon the

shape or size of the container.

Which of the statements given above

is/are correct ?

Select the code for the correct answer

from the options given below :
(D
(2)
(3)
(4)

A only
B only
Both A and B

Neither A nor B

Among the four pairs given below, which
one consists of a correct combination of
dignitaries who became Vice-Presidents
of India after having held diplomatic
posts like Ambassadors and High
Commissioners ?

(1) Dr. S. Radhakrishnan and
G.S. Pathak

(2) Dr. S. Radhakrishnan and
V.V. Giri

(3) Dr. Zakir Hussain and
K.R. Narayanan

(4) B.D. Jatti and K.R. Narayanan

75.

76.

Suresh covers a distance of 6 km in

45 minutes. If he covers half the distance

in 2rd of the time, then what speed does

he maintain to cover the remaining
distance in the remaining time ?

(1) 12 km/hr
(2)
3)

(4)

10 km/hr
8 km/hr
6 km/hr

Mateh List I (Sobriquet) with List II
(Places) :

List I List IT
(Sobriquet) (Places)
A. Gift of the Nile I. Canada
B. Land of the Maple II. Egypt
Leaf
C. Land of Thousand  III. Australia
Lakes
D. Land of the IV. Finland
Golden Fleece

V. Switzerland

Select the code for the correct answer
from the options given below :

A B C D
(1) 1II v v ITI
(2 II I ITI v
3 II I IAY ITI
4) 1I I \Y% III
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Which one of the following is part of the
electoral college for the election of the
President of India but does not form part

of the forum for his impeachment ?
(1)
(2)
(3)
(4)

Lok Sabha
Rajya Sabha
State Legislative Councils

State Legislative Assemblies

Consider the following statements about

the United Nations (UN) :

A. Tt was established on 24th October
1945 and after World War II.

B. The headquarters of UN “is in
Manhattan, New York City.

C. UN has won the Nobel Peace Prize
in 2001.

Which of the statements given above

is/are correct ?

Select the code for the correct answer

from the options given below :

(1) Aonly

(2) A and Bonly

(3) Band C only

(4) A, BandC

79.

80.

Consider the following statements :

A. The

ordinances when Parliament is not

President can promulgate

in session. These ordinances must

be approved by the Parliament
within six months from its
reassembly.

B. The President nominates

12 members of the Lok Sabha from

amongst persons having special
knowledge or practical experience in
literature, science, art and social
service.

Which of the statements given above

is/are correct ?

Select the code for the correct answer

from the options given below :

(1)

(2)

3)

(4)

A only

B only

Both A and B
Neither A nor B

‘Ashoka
Maurya’ are one and the same. This was
established on the basis of which of the

following edicts ?

‘Devanama  Piyadasi’ and

(1) Jatinga

(2) Gavimath
(3) Maski

d Siddapura
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Match List I (Union Territories) with
List II (High Court wunder whose
jurisdiction they come) :
List I List II
(Union (High Court)
Territories)
A. Andaman I. Calcutta High
and Nicobar Court
Islands
B. Daman and II. Bombay High
Diu Court
C. Lakshadweep ITII. Madras High
Court
D. Puducherry IV. Kerala High
Court

Select the code for the correct answer
from the options given below :

A B C D
(1 I IV III I
(2 1II I III IV
3 1II I v II1
4 1 II v II1

Who of the following called the burning of
the the

«

an

foreign  clothes  during

Non-Cooperation = Movement as

insensate waste” ?

(D
(2)
3
4)

Rabindranath Tagore
Mohammad Ali Jinnah
Lord Reading

Moti Lal Nehru

83.

84.

Which of the following is the example of
“Near Money” ?

A. Treasury Bills

B. Savings Accounts

C. US Dollar

D. Real Estate

Select the code for the correct answer

from the options given below :

(1) A and B only

(2). A, BandC only

(3) Cand D only

(4) AandD only

An aluminum sphere is dipped into water
at 10°C. If the temperature of the sphere
is increased, the force of buoyancy
(1) Will increase
(2) Will decrease
Will remain the same

3

4)

May increase or decrease depending

upon the radius of the sphere

WWW.SHIKARAT.COM



85.

86.

291

VIR RRRE BRSNS 0B

ROOT ORF[QODTY,  INoND,

%gér{@éo, TOREANE By Beeend

CRBRTY, FPLBITIL. B3 RTFPFTY,

FENT 030 TBePF30 B0 ?

(1) FTONRT'S INTeY WRBOT A0
BSOS T 00T JF B0,

(2) JTRT BOST W I IBNRPOD
R0COED  WNPRYTVT RS TOOWT
POTET 8 BREmT rbda@é&mﬁzﬁ.

(3) FHoWRT'E T QOTTT,
ReedRomen  soEjid  WOSEIT
Bewde B9 B, @ 003
QOOFALSR.

(4) PIVT Moo WeTT [,
TR0, ANOFATRO.

3$NI ée@ér{%ﬁ&l TONY

A B3I 0=y Boonyte, BHeany Swomes
R3S

B. 3 iRetnzm0 TFERW

C. RTomwom 363

BCOTINTE. 03Rx)3T 300303
PROBODI), QWOPINT 3 LI
TORRET DRIV TRETIT FITEANTTON
TONEFRLBOT :

Rogegny BmooDRoT O LUBTNYR) S0 :

1 AmRS
@) ARB 3N
(3) BRIC 3N
4 A B=C

87.

88.

89.

POTBE TowNYY IINT e Tzyned
HANOT BTHAE), [IBY ROTTE), 3TRO
DOFBITRT 9P RRTTESTD) ?

(1) 3oy

(2) %D%@Gs

(3) T33e0 FooredB

(4) @m0

VU0 LREAOD AT, Ford [RET
DI DROODTZ) SR BRBED
WO, ST, FFNTZTE, 030 ?

(1) TR deed

(2) TOOT 307 SRed

(3) 2BomT® SRed

(4) 0D 03RTe By,

ART RPTO [NIT  WOTYFD 8
‘MR RS B T00FERT ATSRERTN
PTBBROAR dRm TSR
SRRELOEB ?

DO
o)

(1) =DF

(2) e@afv
(3) TT®

3T Age
ed ~

WWW.SHIKARAT.COM



85.

86.

291

The

encouraged the development of art and

rulers of Bahmani Kingdom
architecture in the form of city buildings,
mosques, and fortresses. Which of the
following statements in this context is

incorrect ?

(1) The city of Hyderabad was formed

by Ibrahim Adil Shah of Bijapur.

Gol

mausoleum

(2) Gumbaz of Bijapur, the
of Mohammad Adil

Shah is the largest dome in India.

(3) The Char Minar of Hyderabad was
built by Mohammad Quli Qutb
Shah of Qutb Shahi dynasty of

Golkonda.

(4) Mahmud Gawan built a college at

Bidar.
Consider the following :

A. Region between Krishna and

Tungabhadra
B. The Krishna Godavari Delta
C. Marathwada Colony

A conflict over which among the above is
considered to be the reasons of struggle
between Vijayanagara and Bahmani ?

Select the code for the correct answer
from the options given below :

(D
(2)
3
(4)

A only

A and B only
B and C only
A,Band C

87.

88.

89.

Which of the following states of India was
ruled by the Ahom Dynasty in Sultanate
and Mughal period ?

Kerala

(D)

Kashmir

(2)

(3) South Karnataka

Assam

(4)

Who among the following conspired
against Ibrahim Lodi and invited Babur

to invade Delhi ?

(1) Bahlol Lodi

(2) Daulat Khan Lodi

(3) Sikandar Lodi

None of the above

(4)

Which country has signed a pact with
India to collaborate on ISRO’s first

human space program ‘Gaganyaan’ ?
(1) Germany
(2) France
(3)

Japan

d United States
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90. Who will become the 46t Chief Justice of

91.

92.

291

India after Shri Dipak Misra retires on
27d October 2018 ?

(D
(2)
(3)
(4)

Shri Ranjan Gogoi

Shri Madan Lokur

Shri Kurion Joseph
Shri Arjen Kumar Sibri

Arrange the following in chronological
sequence of their rule at Delhi :

A. Razia

B. Balban

C. Iltutmish
D. Nasiruddin

Select the code for the correct answer
from the options given below :

(D)
(2)
3)
(4)

D,AC,B
AC,D,B
A, B,C,D,
C,A,D,B

Which of the following Mughal emperors
was known as Shah-i-Bekhabar ?

(D
(2)
(3)
4)

Shah Alam
Jahangir
Shahjahan
Bahadur Shah I

93.

94.

Which

general

of the following three public

insurance companies will be
merged into single insurance company as
per Budget 2018 — 19 ?

(1)

United India Insurance, Oriental

Insurance and National Insurance

(2) LIC, Bharti AXA and United

Insurance

(3)

General Insurance, Max Bupa and
UTI

(4) Agriculture Insurance Company of
Limited, Bharti AXA and

United Insurance

India

Which of the following is most likely to

cause current account deficit in India ?

A. Reduced excise duties on Sports
Utility Vehicles

B. Reduced duties on Gold
C. Ban on export of Onions

Select the code for the correct answer

from the options given below :
(1) A and B only
(2) BandConly
(3) A and C only

4 A, Band C
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When a shaving brush is dipped and then
taken out of water, its hair adheres
together due to which of the following
properties ?

Friction

(1)

(2) Elasticity

(3) Viscosity

Surface Tension

(4)

If new computers are being installed in a
company and some employees are fired
from the job due to lack of computer
then what kind of
unemployment will it be called ?

knowledge,

(1) Disguised unemployment
(2)
(3)

(4)

Structural unemployment
Hidden unemployment

Frictional unemployment

What is the theme of 2018 International
Labour Day ?

(1) Celebrating the power of labour

(2)

Uniting workers for social and

economic advancement

(3)

Innovation and entrepreneurship

for employment

(4) Celebrating international labour

movement

98.

99.

100.

Who is the present Chairman of the

Prime Minister’s Economic Advisory

Council (PMEAC) ?
(1) Dr. C. Rangarajan
(2) Dr. Subramaniam Swamy

3)
4)

Dr. Sumitra Chaudhary

Sri Bibek Debroy

An
appointed as the Deputy Director General
for Programmes (DDP) of the World
Health Organization (WHO) is

Indian woman, who was recently

(D
(2)
(3)
4)

Dr. Soumya Swaminathan
Dr. Saroja Vaidyanathan
Dr. Somdurge Rajnathan

Dr. Sukaya Bala

In the recently released recategorisation
of industries by the Ministry of
Environment, Forests and Climate

Change, which category of industries
would not require environmental consent
and clearance as practically they are not

polluting ?
(1) Red
(2) White
Green

(3)

Orange
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